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Question Number : 1 Question Id : 7230533164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Meter is related to distance in the same way as Second is related to:

Identify from the given options.

Options:
% Wealth

« Time
5 Weight

# Force

Question Number : 1 Question Id : 7230533164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 2 Question Id : 7230533165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the suitable figure for D which represents exactly the given set.

|4 L | ?

A B C D
Options:




L
AX
LI
RE:

Question Number : 2 Question Id : 7230533165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 3 Question Id : 7230533166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the odd figure among the options:
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Question Number : 3 Question Id : 7230533166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 4 Question Id : 7230533167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Choose the water image for the following figure:
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Question Number : 4 Question Id : 7230533167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 5 Question Id : 7230533168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will be the next figure in the series?
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Options:
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Question Number : 5 Question Id : 7230533168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 6 Question Id : 7230533169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The following pie chart shows information about the production of chocolates by the company “LMN". The revenue

produced by the sales of all the products is $ 12.400.

milk chocolate

% white chocolate

sugar free
chocolate

candies

sweet chocolates

‘What is the revenue produced by the sale of sweet chocolates?

Options:
» $1.860

% $930
#5465

% $7.440

Question Number : 6 Question Id : 7230533169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Frafoea 9% SE=T (Fe) "LMN” F9:0T ga@RT Fiheie F 396 & T H FT=hRT ATar &1 T
3eqret #r s ZanT St T $ 12,400 B

Aesh didec

W arse didhae
R
IR T Flehere
e didhac
RIS (FE) Ferere @1 o gan gvg T=ies haer 27

Options:

+$ 1,860

#$930
% $ 465

% $7,440

Question Number : 7 Question Id : 7230533170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find out in which of the options is the given figure embedded.
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Question Number : 7 Question Id : 7230533170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 8 Question Id : 7230533171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Study the following information carefully and answer the following question below
Following are the criteria to recruit scientist in a research organization. The candidate-

(1) Should be a post graduate in the discipline mathematics/physics/chemistry with minimum 65% marks

(2) Be above 26 years and not above 35 years of age as on 01-01-2018

(3) Should have a post-doctoral degree with above 50% marks

(4) Should have an experience of minimum 3 years in the above areas

(5) Should be ready to be on probation for one year

If a candidate satisfies all the above criteria except (3) can be referred as project scientist.

If a candidate satisfies all the above criteria except (3) & (4) can be referred to the position Junior scientist.

If a candidate satisfies all the above criteria with 7 vears of experience in the relevant areas can be referred to senior
scientist. If a candidate satisfies all the above criteria with 12 years of experience in the relevant area can be referred to
chief scientist.

Mohan has completed his post doctoral degree in physics with 62% marks with 10 years of experience in the area of
specialization. He had done his masters degree with physics as specialization and also scored 78% of marks in post-
graduation and 65% marks in graduation. He is also ready to join probation for one year.

For which position Mohan can be referred to?

Options:
% Senior Scientist
% Chief Scientist

% Scientist

» Data is msufficient

Question Number : 8 Question Id : 7230533171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 9 Question Id : 7230533172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You are playing cricket in a park. When you hit the ball, it strikes and breaks the glass of window pane of a nearby
house. What you would do?

Options:
» Demand your ball back from the house owner

% Ask the house owner to vacate the house

5 Stealthily get back your ball

» Apologize to the house owner and contribute to replace the glass

Question Number : 9 Question Id : 7230533172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 10 Question Id : 7230533173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How would the pattern appear when the transparent sheet is folded at the dotted line?
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Question Number : 10 Question Id : 7230533173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 11 Question Id : 7230533174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



A mirror always:

Choose the correct option:

Options:
# Refracts
% Distorts

# Reveals the truth

« Reflects

Question Number : 11 Question Id : 7230533174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Teh 0T HaT 4T Tl &7

Ter BT &1 T3 1
Options:

. TP e E

., T 3eHfed a1 &

, Wafad FT &

Question Number : 12 Question Id : 7230533175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the venn diagram for the following set “fruits. grapes, water”

Options:

O
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Question Number : 12 Question Id : 7230533175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 13 Question Id : 7230533176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
Swetha is sister to Ramya. How is Ramya’s father’s sister related to Swetha?

Options:
% Cousin

< Aunt
% Sister

% Niece

Question Number : 13 Question Id : 7230533176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 14 Question Id : 7230533177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If $ means +, # means —, (@ means % and * means - , then what is the value of:

10S6(@L3#64%87
Options:
# 15

Question Number : 14 Question Id : 7230533177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 18
% 24
20

% 16

Question Number : 15 Question Id : 7230533178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a group of dogs and ducks. the number of legs are 10 more than twice the number of heads. Then the correct number
of dogs are from the given options.

Options:
o 5

Question Number : 15 Question Id : 7230533178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

# 5

% 7
% 10

% 12

Question Number : 16 Question Id : 7230533179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The sum of the present ages of father and his son is 60 years. Two years ago the fathers age was 3 times the age of the
son. After eight vears son’s age will be-identify from the given options

Options:
® 16

Question Number : 16 Question Id : 7230533179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Rrar 3k 8% 9F T TaA= 37 & TeT 60 a¥ gl & ¥ 97 far Fr amy 99 i g A 3 @ o
3T a¥ TeEE 9 BT HY =7 gE? Y A0 Reedt # § AT H

Options:

% 16
o 24
% 8

% 26

Question Number : 17 Question Id : 7230533180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the odd pair of words from the given options

Options:
% Spoon : Feed
% Spanner : Grip

w Axe : Chop

« Gun : Cut

Question Number : 17 Question Id : 7230533180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
« Spoon : Feed

» Spanner : Grip
« Axe : Chop

 Gun : Cut

Question Number : 18 Question Id : 7230533181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd numerical pair from the given options

Options:
® 3:28
® 4:.635

® 7:344

" i

Question Number : 18 Question Id : 7230533181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 3 : 28
% 4 : 65
w 7 : 344
<9 : 729

Question Number : 19 Question Id : 7230533182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

What will be 15™ term in the following arithmetic progressive series

3.8, 13, 18,23, .

Options:
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Question Number : 19 Question Id : 7230533182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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3 8, 13: 18,25,
Options:

v 13
w 718
% 68

% 63

Question Number : 20 Question Id : 7230533183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What will be next term in the following series

K2, M4, 06, Q38.510.
Options:
# T11
v Ul2

® US

# T12

Question Number : 20 Question Id : 7230533183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

# T11

» U12

% U8

% 112
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Question Number : 21 Question Id : 7230533184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The'* * refers to the refusal of thousands of rvots (a general economic term used throughout India for peasant
cultivators) in Bengal to grow indigo plants in 1859.

Options:



« Blue Rebellion
% Pink Rebellion
% Green Rebellion

% White Rebellion

Question Number : 21 Question Id : 7230533184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 22 Question Id : 7230533185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Alexander the Great hailed from the state of:

Options:
« Macedonia

% Persia
5 Sparta

% Athens

Question Number : 22 Question Id : 7230533185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 23 Question Id : 7230533186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following is NOT a recipient of the Qutstanding Parliamentarian Award for the vears 2013-2017?

Options:
« Sachidanand Hari Sakshi

» Najma Heptulla
% Ghulam Nabi Azad

% Dinesh Trivedi

Question Number : 23 Question Id : 7230533186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 24 Question Id : 7230533187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first Session of the First Lok Sabha commenced on:
Options:



»~ 13 May 1952
% 25 October 1951
% 21 February 1952

% 01 January 1952

Question Number : 24 Question Id : 7230533187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 25 Question Id : 7230533188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In terms of Article 85(1), the President should summon each House of Parliament within between its last

sitting in one session and the date of first sitting in the next session.

Options:
« 51X months

% five months
% four months

% four and half months

Question Number : 25 Question Id : 7230533188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 26 Question Id : 7230533189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following succeeded Rajiv Gandhi as the President of the Indian National Congress?

Options:
« PV. Narasimha Rao

% Sonia Gandhi
% Sitaram Kesri

» Manmohan Singh

Question Number : 26 Question Id : 7230533189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 27 Question Id : 7230533190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TOPS stands for * Olympic Podium Scheme’.

Options:



o larget
% Talent
% Trial

% Takeover

Question Number : 27 Question Id : 7230533190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 28 Question Id : 7230533191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the game of hockey, when a violation of the rules prevents a likely goal, a is awarded to the offence.

Options:
» penalty stroke
% penalty corner

% free hit

% red card

Question Number : 28 Question Id : 7230533191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 29 Question Id : 7230533192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sikhism was founded by at the beginning of the sixteenth century.

Options:
« Guru Nanak Dev

5 Guru Angad Dev

# Guru Amar Das

# Gurua Ram Das

Question Number : 29 Question Id : 7230533192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 30 Question Id : 7230533193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Bhagoria festival is a popular festival in the state of:

Options:



» Madhya Pradesh
» Nagaland

# Assam

% Maharashtra

Question Number : 30 Question Id : 7230533193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 31 Question Id : 7230533194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
connects Arunachal Pradesh with Lhasa. the capital of Tibet.

Options:
v Bomdila

» Dihang Pass
» Chang-La

» Diphu Pass

Question Number : 31 Question Id : 7230533194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 32 Question Id : 7230533195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is a hillstation located in the Palani hills.

Options:
« Kodaikanal

5 Ooty

# Munnar

5 Coorg

Question Number : 32 Question Id : 7230533195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 33 Question Id : 7230533196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

India became world's economy in terms of Gross Domestic Product (GDP) according to World Bank figures for
2017,

Options:

» Sixth-largest



» eighth-largest
» seventh-largest

s fifth-largest

Question Number : 33 Question Id : 7230533196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 34 Question Id : 7230533197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
IBBI stands for ‘Insolvency and Bankruptcy of India’.
Options:

w Board
% Bench
x Bye-laws

# Bank

Question Number : 34 Question Id : 7230533197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 35 Question Id : 7230533198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A transforms electrical energy into thermal energy.

Options:
« toaster

% blender

5 natural gas stove

% windmill

Question Number : 35 Question Id : 7230533198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 36 Question Id : 7230533199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

is the most common blood type.
Options:
» O positive



» O negative
» AB positive

» B positive

Question Number : 36 Question Id : 7230533199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tae T &Fd 96T ¢
Options:

» O witerfed

% O 9T
% AB diTetied
% B gfates

Question Number : 37 Question Id : 7230533200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘The National Air Quality Index’ (AQI) was launched in India in:

Options:
v 2014

Question Number : 37 Question Id : 7230533200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AR H T TG T[0Tl Haebieh (THFLHTS.) FT 3R # foar T am
Options:
» 2014

% 2015



x 2013

% 2016

Question Number : 38 Question Id : 7230533201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
NARL stands for ‘National Research Laboratory’.

Options:
» Atmospheric

» Astrological

% Astronomical

% Administrative

Question Number : 38 Question Id : 7230533201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 39 Question Id : 7230533202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The All-India Institute of Medical Sciences (AIIMS) was established in 1956:

Options:
» By an Act of Parliament

» Under public-private partnership



% As a public limited company

% As amultinational corporation

Question Number : 39 Question Id : 7230533202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HES dRAT g JEA (AlIMS) @ FT=T 1956 A g5 o

Options:
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Question Number : 40 Question Id : 7230533203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following organisations is mainly focused on human rights?

Options:
» Amnesty International

% International Committee of Bed Cross
» United Nations Security Council

» International Organization for Standardization

Question Number : 40 Question Id : 7230533203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

» TI8THAT AW (THATET SaTaeleTel)
« HORTET 1T #d AT (Seaad HEd A% 3T i)



« TgFd T°g GI&T TRYE (TASES AN FFAINET FHI3Tae)

 HTRTET AT TS (T HEAEAUT B EssoA3)

®
Arithrmnetic Ability
Group Number : 3
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Revisit allowed for edit? : No
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7230533204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If x = 37"% 4 64°% + 243° _then what is the units’ digit of x?

Options:
® 9

-1

o O



Question Number : 41 Question Id : 7230533204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

g x=37""+64""+243" ¥ A x A = T FF &

Options:

% 9
% 7
% 4

s 0

Question Number : 42 Question Id : 7230533205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

When a two-digit number ab, where b = a, is multiplied by the sum of its digits, the number so obtained is 52. When the
digits of the given number are reversed and then the number, so obtained, is multiplied by the sum of the digits, the
number obtained is 124. What is the value of (14a — 3b)?

Options:

® 3

%
LA

® 11

Question Number : 42 Question Id : 7230533205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 3
v
% 6

% 11



Question Number : 43 Question Id : 7230533206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

32 +

L'}
= 4%uf5%-+ [11 - (3 - 1%+ E)] w12l
The value of

g 120
g 2

1 3
g T3t 2z0fg

Options:

282
% 3

Question Number : 43 Question Id : 7230533206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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§+§+250f§

Options:
2
. 5

Question Number : 44 Question Id : 7230533207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Let x be the greatest number which when divides 1892, 2105 and 2531, the remainder in each case is the same. What is
the difference between x and the remainder?

Question Number : 44 Question Id : 7230533207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T &7+ UF 9 987 U 987 TEAT g, 59d 9 1892, 2105 9T 2531 & 0T &, a Icds 330 H TH
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Options:

& 2D
% 23
% 46

% 50

Question Number : 45 Question Id : 7230533208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A is 20% less than B while C is 20% more than D. If D is 25% less than A, then which of the following is true?

Options:
# 27TB=40C
® 40B=27C
v18B=25C
# 25B=18C

Question Number : 45 Question Id : 7230533208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

#» 27 B=40C
»40 B = 27 C
»v18 B =25 C
#» 25 B=18 C

Question Number : 46 Question Id : 7230533209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In spite of an increase in the number of items sold by 10%, the overall revenue received decreases by 10%. What is the
percentage change in the price per item sold?

Options:

2
_18—9%., decrease
W 11 o
25
- 18—9%. increase
w i1
L 5
- 0—104, decrease
F 11

1 .
_ §—04, increase
L] 11

Question Number : 46 Question Id : 7230533209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 47 Question Id : 7230533210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A person sold 20 articles for € 2000 and suffered a loss of 10%. How many articles should he sell for ¥ 2000 to make a
profit of 20%?

Options:

® 12

o 15
# 16

# 18

Question Number : 47 Question Id : 7230533210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frelr =afa @ 20 J%q¢ T 2000 # &= X 3& 10% # Fifa g1 97 T 2000 & formelr swqe 49 &
38 20% T S TIoT &2

Options:

% 12
# 15

16

B

% 18

Question Number : 48 Question Id : 7230533211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A shopkeeper sells an item for T x , after allowing a discount of d% on its marked price. Had he not allowed the
discount. he would have earned a profit of p%b on the cost price. The cost price (in ) of the item is:

Options:
100x

» (100 + d) (100 + p)

100%x
w (100+4d) (100+p)

100x
. (100 — d) (100 +p)




1002x
, (100 —d) (100 + p)

Question Number : 48 Question Id : 7230533211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

100x
x (100+d) (100+p)

1002x
. (100+d) (100 +7p)

100x
» (100 —d) (100+p)

1002x
» (100 — d) (100 + p)

Question Number : 49 Question Id : 7230533212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total number of students in section A and B of a class is 110. The number of students in A is 20% more than that of
B. The average score of students in B in a test is 20% more than that of A. If the average score of all the students in the

class is 84, then what is the average score of students in A?

Options:

® 72

]

LA

1
-1

® 78

Question Number : 49 Question Id : 7230533212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 72
% /5
o 17

% 78

Question Number : 50 Question Id : 7230533213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The incomes of A and B are in the ratio 9 : 4 and their expenditures are in the ratio 7 : 3. If the income of B is equal to
the expenditure of A, then what is the ratio of savings of A and B?

Options:
% 21

o 35:16

# 33:16

Question Number : 50 Question Id : 7230533213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
8
w35 : 16
34
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Question Number : 51 Question Id : 7230533214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Three vessels of capacities 3, 4 and 5 litres contain solutions of acid and water in which the ratio of acid and water are 2
:3.3:7and 4 : 11 respectively. The contents of all the three vessels are poured into another vessel. 180 mL of this
resulting solution is mixed with 72 mL water. What is the ratio of acid and water in the final solution?

Options:
% 1:3
$ 2:5
$3:7
> R

Question Number : 51 Question Id : 7230533214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

*x1:3
x2:5
x3:7
w27

Question Number : 52 Question Id : 7230533215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Anita invested her savings in schemes A and B for 2 vears in the ratio 3 : 5; A offered compound interest, compounded

vearly and B offered simple interest. The rate of interest in B is 15% and that in A, it is 33 g % more than that of what

offered in B. If the difference between the two interests is T 1350, what is the difference between the sums invested in A
and B?

Options:
% < 12000

& < 15000



% < 12800

% < 15600

Question Number : 52 Question Id : 7230533215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

# < 12000
« < 15000
% < 12800

% < 15600

Question Number : 53 Question Id : 7230533216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The compound interest on a sum of T 64000 for a certain period at 5% per annum is I 4921, when the interest is
compounded half yearly. What will be the compound interest on the same sum., if the interest is compounded vearly at
the same rate for the same period?

Options:
% <4820

% < 4860
« T 4880

% < 4890

Question Number : 53 Question Id : 7230533216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:



% < 4820
% < 4860
«» < 4880

% < 4890

Question Number : 54 Question Id : 7230533217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The speed of a boat in still water is five times the speed of the streams. If the boat travels a distance of 36 km upstream

and comes back at the starting point and it takes 3% hours for the whole journey, then what is the speed (in km/h) of
boat while going downstream?

Options:

o 24

w 20

Question Number : 54 Question Id : 7230533217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

24
% 20
% 18

% 15

Question Number : 55 Question Id : 7230533218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A pipe can fill a tank in 12 hours while a leak in its bottom can empty the filled up tank in 16 hours. If the efficiency of
the pipe is increased by 50% and that of leak is halved, then the time taken to fill 90% of the tank is:



Options:
% 9 hours 30 minutes

% & hours 35 minutes
9 hours 36 minutes

% & hours 30 minutes

Question Number : 55 Question Id : 7230533218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 9 e 30 f&=e
% 8 Te 35 Bae
»9 "¢ 36 fa=e

% 8 ge 30 f&=e

Question Number : 56 Question Id : 7230533219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A and B can complete a work in 30 days and 45 days, respectively. After working together for 10 days, B left and A and
C complete the remaining work in the next 10 days. In how many days can C alone complete the same work?

Options:

® 60

# 80

« 90

Question Number : 56 Question Id : 7230533219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 60
% /2
% a0

» 90

Question Number : 57 Question Id : 7230533220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A hollow cylinder of height 3 cm is recast into a solid cylinder of height 9 cm. If the external and internal radii of the

hollow cylinder are 4.3 cm and 1.1 cm respectively. What is the total surface area (in cmzj of the solid cylinder?

Options:
®# 43961

Question Number : 57 Question Id : 7230533220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 58 Question Id : 7230533221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The sides of a triangular field are 949 m. 1095 m and 1022 m. What is the shortest distance (in metres) from the side
measuring 1022 m to its opposite vertex (corner)?

Options:
® 432

o 870

Question Number : 58 Question Id : 7230533221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 432

v 876

% 730

% 584

Sub-Section Number: 2
Sub-Section | d: 723053218
Question Shuffling Allowed : Yes

Question Id : 7230533222 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label | Comprehension



Study the following pie chart and table and answer the questions.

Number of employvees in a Company

J00 BEO
)
;% e s 540 525
B 500 450
._E 400
=] 320
E 300
£
= 200
z
100 I
a
A B C (B E F
Company
Company Ratio of male to female employees
Male : Female
A 7 L 9
B s 3 11
% 8 © 7
D 14 ¢ 313
E 25 © 41
F 13 5 2
Sub questions

Question Number : 59 Question Id : 7230533223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the difference between total number of male
employees and total number of female employees
in companies A to F together?

Options:
® 9

® 10

« 11

® 13

Question Number : 60 Question Id : 7230533224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

Total number of male employees in companies B. D, E

and F is what percent more than the total number of female
employees in companies A. C and E?

(correct to one decimal places)

Options:

# 43.8

Question Id : 7230533222 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension
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Sub questions

Question Number : 59 Question Id : 7230533223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 9

% 10



¢ 11

% 13

Question Number : 60 Question Id : 7230533224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 43.8

»45.4

» 46.6

% 48.2
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Sub-Section Number: 1
Sub-Section 1d: 723053219
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7230533225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options choose the one that would mean the SAME as flawless.

Options:
% brave

5 daring
« faultless

% obstacle

Question Number : 61 Question Id : 7230533225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options choose the one that would mean the SAME as flawless.

Options:
% brave
» daring

« faultless

% obstacle

Question Number : 62 Question Id : 7230533226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options choose the one that means the OPPOSITE of enduring.

Options:
» long-lasting
% famous

« short-lived

% survive



Question Number : 62 Question Id : 7230533226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

From the given options choose the one that means the OPPOSITE of enduring.

Options:

» long-lasting

% famous
» short-lived

% survive

Question Number : 63 Question Id : 7230533227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Detect the mis-spelt word from the given options.
Options:

5 adapt

» adept
5 adopt

» adege

Question Number : 63 Question Id : 7230533227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Detect the mis-spelt word from the given options.
Options:

5 adapt

» adept
5 adopt

» adege

Question Number : 64 Question Id : 7230533228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

Isn’t it strange that though we live in the same city. I get to see my sister once in a blue moon?

Options:
% all the time

» frequently
5 once in fifteen days

» occasionally

Question Number : 64 Question Id : 7230533228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

Isn’t it strange that though we live in the same city. I get to see my sister once in a blue moon?

Options:
% all the time

» Irequently
5 once in fifteen days

» occasionally

Question Number : 65 Question Id : 7230533229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

An ulcer in the stomach was long known to be caused by both physical and mental conditions.
Options:
% Ppsychiatric

« Ppsychedelic

« psychopathic



» Psychosomatic

Question Number : 65 Question Id : 7230533229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

An ulcer in the stomach was long known to be caused by both physical and mental conditions.
Options:
% Ppsychiatric

« psychedelic
% psychopathic

» Dsychosomatic

Question Number : 66 Question Id : 7230533230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

Do not consulting the doctor any more. This low grade fever has continued for about a fortnight.

Options:
% Put on

% Put back
« Put off

» Put through

Question Number : 66 Question Id : 7230533230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

Do not consulting the doctor any more. This low grade fever has continued for about a fortnight.

Options:
% Put on



% Put back
« Put off

» Put through

Question Number : 67 Question Id : 7230533231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

HMS Bounty was one of the recognizable ships in the world. It was a classic tall ship. Its three masts rose
than 100 feet.

Options:
% Much ; most

% More ; most
» Most ; more

» Long : high

Question Number : 67 Question Id : 7230533231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

HMS Bounty was one of the recognizable ships in the world. It was a classic tall ship. Its three masts rose
than 100 feet.

Options:
% Much ; most
% More : most

» Most ; more

5 Long : high

Question Number : 68 Question Id : 7230533232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blank in the sentence given below with the correct option.

Lack of stipulated hours of sleep a lot of people. but sleeping pills not the only answer.

Options:
» Alffects ; are

5 Affected ; have
5 Affecting ; do

% have affected ; will

Question Number : 68 Question Id : 7230533232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

Lack of stipulated hours of sleep a lot of people. but sleeping pills not the only answer.
Options:

» Affects ; are

5 Affected ; have

» Affecting ; do

5 have affected ; will

Question Number : 69 Question Id : 7230533233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

The CEO of a Malaysian company recently after his smartphone
Options:
5 dies ; explode

» died ; exploded

% 13 dying : explode



5 die ; exploding

Question Number : 69 Question Id : 7230533233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

The CEO of a Malaysian company recently after his smartphone

Options:
5 dies ; explode

» died ; exploded
% 13 dying : explode

» die ; exploding

Question Number : 70 Question Id : 7230533234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part

that has an error.

An analysis involving 6. 00.000 people found that one table spoon of
butter will be associated with four percent decrease in diabetes risk
without increasing the risk of a stroke.

Options:

w 6. 00,000 people found

« Will be associated

» four percent decrease

» Wwithout increasing the risk

Question Number : 70 Question Id : 7230533234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an incorrect sentence. From the given options, select the part
that has an error.

An analysis involving 6. 00.000 people found that one table spoon of
butter will be associated with four percent decrease in diabetes risk
without increasing the risk of a stroke.

Options:
% 6. 00,000 people found

« Will be associated

» four percent decrease

» Without increasing the risk

Question Number : 71 Question Id : 7230533235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

The Regional Research Laboratory, Trivandrum has helped women engaged in plaiting coconut leaves learn the process

of extent of life of coconut leave thatch.

Options:
» The Regional Research Laboratory,

» has helped women engaged
» plaiting coconut leaves

» extent of life of coconut leave thatch.

Question Number : 71 Question Id : 7230533235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options, select the part that has an error.

The Regional Research I aboratory, Trivandrum has helped women engaged in plaiting coconut leaves learn the process

of extent of life of coconut leave thatch.

Options:
» The Regional Research Laboratory,

% has helped women engaged



» plaiting coconut leaves

» extent of life of coconut leave thatch.

Question Number : 72 Question Id : 7230533236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the PASSIVE VOICE form of the given sentence.

When the chief guest arrives he by the Principal.

Options:
% need to be received

% must be received
% can be received

» will be received

Question Number : 72 Question Id : 7230533236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the PASSIVE VOICE form of the given sentence.

When the chief guest arrives he by the Principal.

Options:
% need to be received

% must be received
% can be received

« will be received

Question Number : 73 Question Id : 7230533237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the indirect form of narration of the given sentence.

Prema told her teacher, “I want to thank vou for being so helpful. I have brought this purse which I have made in my
Arts and Crafts class for you. I will be very happy if you accept this.”

Options:



Prema told her teacher, I want to thank you for being so helpful. I have brought this purse which I have made in my Arts
w and Crafts class for you. I will be very happy if you accept this.

Prema told her teacher that she wanted to thank her (the teacher) for being so helpful. She (Prema) further said that she
had brought that purse which she (Prema) had made in her Arts and Crafts class for her teacher. She would be very
» happy if the teacher accepted that purse.

Prema told her teacher that she wanted to thank her for being so helpful. She had brought this purse which she has made
% in her Arts and Crafts class for her. She will be very happy if she accepted this purse.

Prema said to her teacher that she wants to thank her for being so helpful. She has brought this purse which she has
« made in the Arts and Crafts class for herself. She further said that she will be very happy if she accepted this gift.

Question Number : 73 Question Id : 7230533237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the indirect form of narration of the given sentence.

Prema told her teacher, “I want to thank you for being so helpful. I have brought this purse which I have made in my
Arts and Crafis class for you. I will be very happy if you accept this.”

Options:
Prema told her teacher, I want to thank you for being so helpful. I have brought this purse which I have made in my Arts
w and Crafts class for you. I will be very happy if you accept this.

Prema told her teacher that she wanted to thank her (the teacher) for being so helpful. She (Prema) further said that she
had brought that purse which she (Prema) had made in her Arts and Crafts class for her teacher. She would be very
» happy if the teacher accepted that purse.

Prema told her teacher that she wanted to thank her for being so helpful. She had brought this purse which she has made
% in her Arts and Crafts class for her. She will be very happy if she accepted this purse.

Prema said to her teacher that she wants to thank her for being so helpful. She has brought this purse which she has
« made in the Arts and Crafts class for herself. She further said that she will be very happy if she accepted this gift.

Question Number : 74 Question Id : 7230533238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

Onion is known to lower blood pressure. Onion is known to reduce incidents of heart attacks. It also helps lower blood
sugar by triggering increased insulin production.

Options:
% Onion is known to lower blood pressure. blood sugar and reduce heart attacks.

Onion is known to lower blood pressure and onion is known to reduce incidents of heart attacks and it also helps to
« lower blood sugar by triggering increased insulin production.



Onion is known not only to lower blood pressure and reduce incidents of heart attacks but it also helps to lower blood
» sugar by triggering increased insulin production.

Onion is helpful in controlling diseases like blood pressure, blood sugar and heart attacks by increasing insulin
% production.

Question Number : 74 Question Id : 7230533238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

Onion is known to lower blood pressure. Onion is known to reduce incidents of heart attacks. It also helps lower blood
sugar by triggering increased insulin production.

Options:
% Onion is known to lower blood pressure, blood sugar and reduce heart attacks.

Omnion is known to lower blood pressure and onion is known to reduce incidents of heart attacks and it also helps to
« lower blood sugar by triggering increased insulin production.

Onion is known not only to lower blood pressure and reduce incidents of heart attacks but it also helps to lower blood
» sugar by triggering increased insulin production.

Onion is helpful in controlling diseases like blood pressure, blood sugar and heart attacks by increasing insulin
% production.

Question Number : 75 Question Id : 7230533239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
The English are the only nation on the planet that is passionate about queuing be it in the supermarket at the post office
or at bus stops. They won't tolerate queue —jumping. So even if theres only one person waiting at a bus stop vou better
# stand behind them and let them board first.

The English are the only nation on the planet that is passionate about queuing, be it in the supermarket, at the post office
or at bus stops. They won’t tolerate queue —jumping. So even if there’s only one person waiting at a bus stop, you better
w stand behind them and let them board first.

The English are the only nation on the planet that is passionate about queuing. Be it in the Supermarket. at the post
office, or at bus stops. They won’t tolerate queue —jumping. So even if theres only one person waiting at a bus stop--
% vou better stand behind them, and let them board first.

The English are the only nation on the planet that is passionate about queuing be it the supermarket at the post office or
at bus stops. They won'’t tolerate queue —jumping. So even if theres only one person waiting at a bus stop you better
# stand behind them and let them board first.

Question Number : 75 Question Id : 7230533239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Choose the passage that is correctly punctuated.

Options:
The English are the only nation on the planet that is passionate about queuing be it in the supermarket at the post office
or at bus stops. They won't tolerate queue —jumping. So even if theres only one person waiting at a bus stop vou better
# stand behind them and let them board first.

The English are the only nation on the planet that is passionate about queuing, be it in the supermarket, at the post office
or at bus stops. They won’t tolerate queue —jumping. So even if there’s only one person waiting at a bus stop, you better
» stand behind them and let them board first.

The English are the only nation on the planet that is passionate about queuing. Be it in the Supermarket. at the post
office, or at bus stops. They won’t tolerate queue —jumping. So even if theres only one person waiting at a bus stop--
% vou better stand behind them, and let them board first.

The English are the only nation on the planet that is passionate about queuing be it the supermarket at the post office or
at bus stops. They won'’t tolerate queue —jumping. So even if theres only one person waiting at a bus stop you better
# stand behind them and let them board first.
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Question Shuffling Allowed : Yes

Question Id : 7230533240 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label @ Comprehension

Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition. the adi-kavya, a description
not used for the other epic. Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhvan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas. or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography, as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

Sub questions



Question Number : 76 Question Id : 7230533241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option to complete the statement.

The Ramayana is the Mahabharata.
Options:
5 longer than

» Shorter than

% dated later

5 Of the same length

Question Number : 77 Question Id : 7230533242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Ramayana represents the enmity between
the kingdoms of the and the

south of the Vindhyas.

Options:
» Indus valley ; kingdoms

5 Yamuna plains : rakshasas
» Ganges valley . forest tribes

» Narmada valley ; kingdoms

Question Number : 78 Question Id : 7230533243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Valmiki. based the epic on sources which were

available from of that period.

Options:
« word-of-mouth

% Written records



5 travelogues

% coins

Question Number : 79 Question Id : 7230533244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The forest tribes are described as rakshasas because

of their

Options:
» Language which was not understood by their enemies

» Their strange eating habits
» totally different way of life

% Lack of manners and education

Question Number : 80 Question Id : 7230533245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What, according to the text, was not originally written
by Valmiki. and was added later?

Options:
» The fabulous wealth of the king of Lanka.

» The admirable qualities of the forest tribes.

The conflict between advancing monarchies and
« Iribal societies.

» The duties of an ideal king.

Question Id : 7230533240 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label | Comprehension



Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition. the adi-kavya, a description
not used for the other epic. Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhyan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas. or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography, as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

Sub questions

Question Number : 76 Question Id : 7230533241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct option to complete the statement.

The Ramayana is the Mahabharata.
Options:
» longer than

« Shorter than
% dated later

5 Of the same length

Question Number : 77 Question Id : 7230533242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Ramayana represents the enmity between
the kingdoms of the and the

south of the Vindhyas.

Options:



» Indus valley ; kingdoms
» Yamuna plains ; rakshasas
» Ganges valley . forest tribes

» Narmada valley ; kingdoms

Question Number : 78 Question Id : 7230533243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Valmiki. based the epic on sources which were

available from of that period.

Options:
« word-of-mouth

% Written records

5 travelogues

% coins

Question Number : 79 Question Id : 7230533244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The forest tribes are described as rakshasas because

of their

Options:
» Language which was not understood by their enemies

» Their strange eating habits
» totally different way of life

% Lack of manners and education

Question Number : 80 Question Id : 7230533245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What, according to the text, was not originally written
by Valmiki. and was added later?



Options:
» The fabulous wealth of the king of Lanka.

% The admirable qualities of the forest tribes.

The conflict between advancing monarchies and
« Iribal societies.

% The duties of an ideal king.
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Correct : 1 Wrong: 0.25
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Options:
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Question Number : 92 Question Id : 7230533257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 93 Question Id : 7230533258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
» T ar




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 93 Question Id : 7230533258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Note: For thisquestion, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 94 Question Id : 7230533259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 94 Question Id : 7230533259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘AT e FT oA S g

Options:
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Question Number : 95 Question Id : 7230533260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 95 Question Id : 7230533260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 96 Question Id : 7230533261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 96 Question Id : 7230533261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 97 Question Id : 7230533262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 97 Question Id : 7230533262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 98 Question Id : 7230533263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 98 Question Id : 7230533263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 99 Question Id : 7230533264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 99 Question Id : 7230533264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 100 Question Id ;: 7230533265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 100 Question Id : 7230533265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Subject Related

Group Number : 6

Group Id : 723053161

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subject Eelated

Section Id : 723053161
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
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Sub-Section Number: 1
Sub-Section Id: 723053222
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7230533266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 101 Question Id : 7230533266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 102 Question Id : 7230533267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 102 Question Id : 7230533267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 103 Question Id : 7230533268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘UEITAT 39ATH & o@H Hid 7

Options:
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Question Number : 103 Question Id : 7230533268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 104 Question Id : 7230533269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 104 Question Id : 7230533269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 105 Question Id : 7230533270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 105 Question Id : 7230533270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 106 Question Id : 7230533271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 106 Question Id : 7230533271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 107 Question Id : 7230533272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

AT

O




% THoAToT

» e & 9T

Question Number : 107 Question Id : 7230533272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Question Number : 108 Question Id : 7230533273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 108 Question Id : 7230533273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 109 Question Id ;: 7230533274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 109 Question Id : 7230533274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 110 Question Id : 7230533275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 110 Question Id ;: 7230533275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 111 Question Id : 7230533276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 111 Question Id : 7230533276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 112 Question Id : 7230533277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 112 Question Id : 7230533277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 113 Question Id : 7230533278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 113 Question Id : 7230533278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 114 Question Id : 7230533279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 114 Question Id : 7230533279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Options:
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Question Number : 115 Question Id : 7230533280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 115 Question Id : 7230533280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 116 Question Id : 7230533281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 116 Question Id : 7230533281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 117 Question Id : 7230533282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 117 Question 1d : 7230533282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 118 Question Id : 7230533283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘TR # W@ e TEehr T 87
Options:
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Question Number : 118 Question Id : 7230533283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 119 Question Id : 7230533284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 119 Question Id : 7230533284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 120 Question Id ;: 7230533285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Options:

, HEER JHE gfadar

,, AT Aol




, T JTTHYET a8

. TL T

Question Number : 120 Question Id : 7230533285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Revisit allowed for view? : No

Revisit allowed for edit? : No
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Question Shuffling Allowed : Yes
Question Number : 121 Question Id : 7230533286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 121 Question Id : 7230533286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 122 Question 1d : 7230533287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 122 Question Id : 7230533287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 123 Question Id : 7230533288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 123 Question Id : 7230533288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 124 Question Id : 7230533289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 124 Question Id : 7230533289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 125 Question Id : 7230533290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 125 Question Id : 7230533290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 126 Question Id : 7230533291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 126 Question Id : 7230533291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 127 Question Id : 7230533292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Options:

. BT T g=a9

.. JecTasTerTd FAT

" ti(:lgi*Hﬁ ATEA]

v TATSETE AT

Question Number : 127 Question Id ;: 7230533292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 128 Question Id : 7230533293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 128 Question Id : 7230533293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 129 Question Id ;: 7230533294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 129 Question Id : 7230533294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 130 Question Id : 7230533295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 130 Question Id : 7230533295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 131 Question Id : 7230533296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 131 Question Id : 7230533296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 132 Question Id : 7230533297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 132 Question Id : 7230533297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Question Number : 133 Question Id : 7230533298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 133 Question Id : 7230533298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 134 Question Id : 7230533299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



‘TS TE A hded THET (T9) 87
Options:

% 59
% 61
% 65

» 69

Question Number : 134 Question Id : 7230533299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘TR AT # e 5ET (@) 87
Options:
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Question Number : 135 Question Id : 7230533300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 135 Question Id : 7230533300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT &7 T &0 9T & or°?



Options:

» & e

» TAFIE TS

Question Number : 136 Question Id : 7230533301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 136 Question Id ;: 7230533301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 137 Question Id : 7230533302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 137 Question Id : 7230533302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 138 Question Id : 7230533303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 139 Question Id : 7230533304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 139 Question Id : 7230533304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 140 Question Id : 7230533305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 140 Question Id : 7230533305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 141 Question Id : 7230533306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 141 Question Id : 7230533306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 142 Question Id : 7230533307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 143 Question Id : 7230533308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 143 Question Id : 7230533308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 144 Question Id : 7230533309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 145 Question Id : 7230533310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 145 Question Id : 7230533310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 146 Question Id : 7230533311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘TS, Fiacd W, TIH T IS T Iad & AT Hid 87
Options:

o ol



B o
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 148 Question 1d : 7230533313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 150 Question Id : 7230533315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 151 Question Id ;: 7230533316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 151 Question Id : 7230533316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 152 Question Id ;: 7230533317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 152 Question Id : 7230533317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 153 Question Id ;: 7230533318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 154 Question Id : 7230533319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 154 Question Id : 7230533319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 155 Question Id : 7230533320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 156 Question Id : 7230533321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 157 Question Id : 7230533322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 157 Question Id : 7230533322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘ATHAF Fe TR gHT?
Options:

1943 %.

. 1945 5.

. 1951 .

. 1959 .

Question Number : 158 Question Id : 7230533323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 159 Question Id ;: 7230533324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 159 Question Id : 7230533324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 160 Question Id : 7230533325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 160 Question Id : 7230533325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 161 Question Id : 7230533326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 161 Question Id : 7230533326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 162 Question Id : 7230533327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 162 Question Id : 7230533327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 163 Question Id : 7230533328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 163 Question Id : 7230533328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 164 Question Id : 7230533329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 164 Question Id : 7230533329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 165 Question Id : 7230533330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 165 Question Id : 7230533330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 166 Question Id : 7230533331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 166 Question Id : 7230533331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 167 Question Id : 7230533332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 167 Question Id : 7230533332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 168 Question Id : 7230533333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 168 Question Id : 7230533333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 169 Question Id ;: 7230533334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 169 Question Id : 7230533334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 170 Question Id : 7230533335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 170 Question Id : 7230533335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 171 Question Id : 7230533336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 171 Question Id : 7230533336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 172 Question Id : 7230533337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 172 Question Id : 7230533337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 173 Question 1d : 7230533338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 173 Question Id : 7230533338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 174 Question Id : 7230533339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 174 Question Id : 7230533339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 175 Question Id : 7230533340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 176 Question Id : 7230533341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 176 Question Id : 7230533341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 177 Question Id : 7230533342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 178 Question Id ;: 7230533343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 179 Question Id : 7230533344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 179 Question Id : 7230533344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 180 Question Id : 7230533345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 180 Question Id : 7230533345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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subject Related

Group Number : 10

Group Id: 723053165

Group Maximum Duration : 0

Group Minimum Duration : 120

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

subject Related

Section Id : 723053165
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 723053226
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7230533346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 181 Question Id : 7230533346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 182 Question Id : 7230533347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 182 Question Id : 7230533347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 183 Question Id : 7230533348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 183 Question Id : 7230533348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 184 Question Id : 7230533349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 184 Question Id : 7230533349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 342
» 343
« 344

% 345

Question Number : 185 Question Id : 7230533350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 185 Question Id : 7230533350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 723053227
Question Shuffling Allowed : Yes

Question Id : 7230533351 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 186 Question Id : 7230533352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 187 Question Id : 7230533353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 188 Question Id : 7230533354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:




Question Number : 189 Question Id : 7230533355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 190 Question Id : 7230533356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Id : 7230533351 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 186 Question Id : 7230533352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 187 Question 1d : 7230533353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 188 Question Id : 7230533354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 189 Question Id : 7230533355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 190 Question Id : 7230533356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Sub-Section Number: 3
Sub-Section 1d: 723053228
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 7230533357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the appropriate option to fill in the blank.

Listing as many uses as possible for common articles like knife or paper is a test for

Options:
» Intelligence

» Creativity
% Emotions

» Knowledge

Question Number : 191 Question Id : 7230533357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 192 Question Id : 7230533358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Chose from the following.

The boards responsible for management of education system and teacher accreditation are

Options:
# CBSE and NCERT

% NUEPA and NIOS
v NUEPA and NCERT

# CBSE and NUEPA

Question Number : 192 Question Id : 7230533358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 193 Question Id : 7230533359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Engaging students in exploratory activities is an appropriate strategy to develop which of these attributes in them?

Options:



» Team spirit
% Anger management

» Self confidence

% Care and concem

Question Number : 193 Question Id : 7230533359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 194 Question Id ;: 7230533360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the right answer from the option below.

Classroom teaching can be effective when teachers have secure knowledge of subject content. curriculum and

Options:
» Educational provisions

% Education Initiatives

% Policies

» Pedagogical content

Question Number : 194 Question Id ;: 7230533360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 195 Question Id : 7230533361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the options is an example of a discipline and a subject?

Options:
» Psychology and English
5 Biology and French

» Philosophy and Sociology

» Dentistry and Linguistics

Question Number : 195 Question Id : 7230533361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 196 Question Id : 7230533362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the right option.

When men and women enjoy the same rights it is called
Options:
» Gender equity

» Gender equality
5 Gender stereo typing

% Gender bias

Question Number : 196 Question Id : 7230533362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 197 Question Id : 7230533363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
One of the limitations of micro-teaching is that
Options:

» There is emphasis on skill and not content
% All skills are covered

s It 1s time consuming



% It cannot be observed or evaluated

Question Number : 197 Question Id : 7230533363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 198 Question 1d : 7230533364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Skimming and scanning are types of

Options:
» Observation techniques

» Reading techniques
» Vvisual techniques

% Writing technique

Question Number : 198 Question Id : 7230533364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 7230533365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sculpture is an example of

Options:
» Performing art

5 Contemporary art

% Theatre form

« Visual art

Question Number : 199 Question Id : 7230533365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 200 Question Id : 7230533366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The basic sources of knowledge are

Options:
» Sense experience and empirical knowledge

» Books and reading

% Reflections

% Revelations



Question Number : 200 Question Id : 7230533366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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